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PGk 6) /218 (12" CLASS - 12018) 5
MATHEMATICS , GROUP SECOND TIME: 30 MINUTES , MARKS: 20
OBJECTIV
NOTE: You have four choices for each objective type questionas A, B, C and D . The choice which
you think is correct , fill that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

QUESTION NO. 1
(1) Domainoff(x)=—’:7l is (A4 B 1 (©R{l} DR-{4}

@ M o A) £ ® = (C)ab (D) -ab

d o x241y = x2+1 x241 x241 x%+1
(3) E;(ex ) = (A) 2e (B) 2xe (C) e (D) xe

d 2 e -1 4 1 -4
4) E;(tan ' 4x) = (A) 1+16 x2 (B) 1416 x2 (C} 1+16 %% ®) 1+16 x2
() g Ginb™0= W= ® == O 7 @O
6 Y=e*Yi= (A) 8e* (B)16e®* (C)e™ (D)l

(7)  J e (Sinx+2Cosx)dx = (A) e Cosx+C  (B)ame™ SHx +C
©) -¢*Cosx+C _ (@) Ve Cosx+C

® J, Sinxdx = a1 @ @2 O
© [ sec?xdx = W5 (®Y ©2 O
an [V = = WEP ' ® I o1 O

(11)  Distance betweengthe goints (2,3) and (3,2) is
A V2 ®2 ©1 O 25
(12) . Slope —intereeptform of straight line is
- (A) x =0 (B}§+’;’= | (QOy=mx+c (D)y=0

(%) The dopbofline -ax +by<=0is (W) B 7 ©z M2

(14) The point of intersection of medians of a triangle is
(A) centroid (B) orthocenter (C) circumference (D) incenter

(15)  Solution of inequality x+2y<6is  (A)(1,3) (B) (LD ©Q4 D(A35)-
(16) The radius of the circle X +y? +2gx +2fy +c =0 s

W FTFTC ®) J@ - +C © Vg8 -1 -C O g +f~C
(17)  The length of the diameter of the circle X+ yz =a’ is (A)1 (B)2 (C)2a (D) a

(18) If acircle and a line intersect in two points, then the line is called
(A) chord (B)secant (C) radius (D) diameter

19) KV = -i-21-3k ,then V1= (A) -6 (B)-14 (C) V14 (D) 6
(20) If OA =%, 0B =D then AB is (A)E+D ®) 3i.b () 3-b (@ b-3
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A1\ THEMATICS , GROTP SECOND 12* CLASS - 12018 §IME : 2.30 HOURS
- SUBJECTIVE MARKS : 80
SECTION-I .

OUESTION NO.2 Write short answers any Eight (8) questions of the following 16
I | Express the perimeter “ P ” of square as a function of its area , “A™. |
2 Evaluate m  Sinax

w = () Sinbx
3 | Give the criterion for Existence of limit of a function
4 | Give the definition of Derivative of function [ (x) R
5 | Find the derivative of y = (X’ +5)(x’ +7) W.I.t. X
6 |1f y=vx++x find % by making suitable substitution.
7 | Differentiate Sinx w.r.t. cotx.
8 | Find f(x) if f(x)=In(e"+e7)
9 |Find$ , if y=Sinh" ()
10 | Find y, if y=+vx +.§
11 | Define increasing and decreasing functions.
12 | Find extreme values of f(x) = 5x” — 6x +2
QUESTION NO. 3 Write short answers any Eight (8) questions of the following 16
1| Find the approximate increase in the volume of a cube if the length of its each edge
changes from 5 to 5.02
2 | Using differential find :—i when x*+y* = xy*
3 | Evaluate f -(}-i;'f—)a dx
4 ax+b
Evaluate [ ——=—m J—Z —
5 cotyx
Evaluate [ i i dz x>0
6 |g BNy
Evaluate | ———
7 | Evaluate jx4 Inx dx
8 | Evaluate J': 18 % cosx dx
9 | Evaluate _|'12 0% N,
10 | Find the areasbounded by”cos” function from  x= -n/2 to x= n/2
11 | Graph the,solution set of linear inequality 3x +7y = 21
| 12 | Define‘as*coner point”
QUESTION ND. 4 Write short answers any Nine (9) questions of the following 18
1 | The points A (-5,-2) , B(5,-4) are end points of the diameter of circle. Find the
centre and radius of circle
2 | By means of slopes, show that following points lie on the same line.(-4,6);(3,8);(10,10)
3 | Find an equation of the vertical line through (-5, 3)
4 | Convert into two —intercept form 4x+7y-2=0
}‘5 Find point of intersection of the lines 3x +y +12=0 andx+2y-1=0
6 | Find the focus and the vertex of the parabola x°= Sy
7 | Write an equation of parabola with Focus (-3,1); directrix x =3
8 | Find an equation of the ellipse with foci (+3,0) and length of minor axis 10 .
9 | Find center and foci of the ellipse x° +4y” =16
' 10 | Find the unit vector in the same direction as the vector V = [-2,4]
11 | Find“«”, sothat | eci+(x+1)j+2k]| =3
12 | Find a vector whose magnitude is 4 and is parallel to 2i — 3j + 6k
13 | Find magnitude of the vector V and write the direction cosines of V where
V=2j+3j +4k

\ril



- SECTION-1I

Note: Attempt any Three questions from this section 10x3=30

' 5A) | Find the value of k. If the function
f(x) = V2x+5 - Vx+7 X#2

x-2

K ,X=2
is continuous at x =72

(B) | Expand a" in the Maclaurin series expansion upto 4-terms.

6-(A) | Evaluate the integral
,f x sin 1:
Vi1—x2
(B) | The point A(-1,2) , B(6,3) and C(2,-4) are vertices of a triangle, Show that the lme joining
the midpoint D of AB  and the midpoint E of AC ispardllel to BC and DE == BC

7-(A) | Evaluate f:’fﬁx cos x dx

(B) | Maximize f(x,y) = 2x +5 y , Subject to the:eonstraints
2y-x < 8 :
x-y<4, .90

8-(A) | Show that the cirales _
Xayit 2x -2y -7=0 and
X4y’ - 6x +4y +9 =0

touch externally

(B) | Show thatithe vectors
2i— i+ k. : i—Si-Sic_ and 3';—41-415 form sides of a right triangle.

9-(A) | Find an equation of Hyperbola with given data
Foci (24 5V2 ,-7) ,length of transverse axis 10.

(B) | Inany ti'iangle ABC , Prove that
; a h: ... &

sin A sinB sinC
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